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The figures in the right hand margin indicate marks

Candidates are required to give their answers in their’
own words as far as practicable

Illustrate the answers wherever necessary

Write the answers to Questions of each Half
in separate books wherever necessary

[NEW SYLLABUS|]
FIRSTHALF
( Economics Theory - I (Microeconomics))
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GROUP - A

1. Answer any five questions : 2x5

(2) What is the law of Diminishing marginal
utility ?

(&) Mention any two characteristics of
monopoly.

{c) Whatis 'Quasi-Rent'?

(d) Why do two indifference curves not
intersect each other ?

(¢) Mention the exceptions to the law of
demand. :

(/) Whatis fixed cost and variable cost ?

(g) Whatdo you mean by ‘break even point' of a
firm under perfect competition ?

(k) Define price elasticity of demand.
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GROUP -B
Answer any three questions : 5%x3

What will be the impact on equilibrium price and
quantity due to

{a) achange indemand

() achange in supply. . 5

State the relationship between Average Cost (AC)
and Marginal Cost (MC) w1th the help ofa

diagramme. , 5

What is price discrimination ? State the equilibrium
conditions of a 'discriminating monopolist'. 2 + 3

Discuss any one of the theories on the origin of
profit. , 5

What is 'production function' ? Explain briefly
the law of variable proportion in production. 2 + 3

Briefly discuss Ricardian theory of rent. 5
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GROUP - C
Answer any two questions : 102

8. What is an indifference curve ? What is a budget
line ? Explain the equilibrium of a consumer with
the help of indifference curve analysis. 2+2+6

9. Explain the marginal productivity theory of
distribution. Mention at least two criticisms. 8 + 2

10. Explain the 'liquidity preference theory of
interest’ of Keynes. Can rate of interest be zero ?
Explain your answer. 7+3

11. Define demand. Draw a demand curve. Explain
the reason behind downward slope of a demand
curve. Write down the factors on which demand
for a commodity depends. - 2+1+3+4

SECONDHALF

( Indian Economics - 1)

[ Marks : 45 ]
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GROUP - A
Answer any five questions : 2 %5
(a) Mention two functions of NABARD.

() Mention two problems of agricultural
. marketing in India.

{c) Mention two steps taken by the Government
of India to reduce inequality in income
distribution.

(d) Give two concepts of poverty line in India.
(e) Whatis privatization ?
() IsIndian economy a dual economy ?

(g) What are the differences between small and
cottage industries ?

.. (h) What do you mean by 'social security' ?

GROUP - B
Answer any three questions : 5%3

Justify the nature of Indian economy in respect
of the characteristics of any underdeveloped
economy. 5
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3. What are the impacts of population growth on
Indian economy ? 5

4. Define service sector and write the importance
of service sector in Indian economy. 5

5. Discuss the causes of income-disparity in

India. 5
6. Discuss briefly the methods of solution of
industrial disputes in India. 5
7. What are the main causes of low productivity in
Indian agriculture ? 5
GROUP —-C
Answer any two questions : 10x2

8. What are the possible causes of unemployment
in India ? Throw a light on the measures adopted
to solve the problem. ' 5+5

9. Discuss the trend of Sectoral composition in
National India of India during the planning

period. o 10
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10. What are the features of land reform in India ?
Discuss its impact on Indian agriculture. 10

11. Define 'Industrial sickness'. What are the causes
of industrial sickness in India ? Mention the
solutions to solve this problem. , 10
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